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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2014 C L«X, 2015 

%UÔX›◊Tˆ ( Economics ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

aä] Yy [ 7th Paper : Developmental Economics 
(Advanced) & Mathematical Technique in 

Economics ] 
a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 
 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) %UÔÍX◊TˆEı =~Ã^X [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? %UÔÍX◊TˆEı 

=~Ã^„XÃ[˝ =YÁVÁXm◊_ Eı› Eı› ? %UÔÍX◊TˆEı a] ◊à˘ C 

%UÔÍX◊TˆEı =~Ã^„XÃ[˝ ]„W˝Ó YÁUÔEıÓ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

   6 + 6 + 8   

 (F) c˜ÓÁ◊Ã[˝a-ÊªRÙOÁQˆÁ„Ã[˝Á ]„Qˆ„_ `“„]Ã[˝ ÿöˆÁXÁ‹ôˆÃ[˝ a+„EÔı Â^ 

[˝ÓÁFÓÁ Y“VÁX EıÃ[˝Á c˜„Ã^‰ªK˜ TˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (G) a«b] a] ◊à˘Ã[˝ Y„l˘ ^«◊N˛ %Á„_ÁªJÙXÁ EıÃ[˝”X* a«b] 

[˝ ◊à˘Ã[˝ Y„U [˝ÁW˝Ám◊_ Eı› Eı› ? %a] a] ◊à˘ A[˝e 

a«b] a] ◊à˘Ã[˝ ]„W˝Ó YÁUÔEıÓ Eı› ? 8 + 6 + 6 

 (H) ªK˜≤ø„[˝`› Â[˝EıÁÃ[˝±ºˆ EıÁ„Eı [˝„_ ? ªK˜≤ø„[˝`› Â[˝EıÁÃ[˝±ºˆ 

a+„EÔı %]Tˆ¤Ó Âa„XÃ[˝ ]„Qˆ_◊ªRÙO ae„l˘„Y [˝ÓÁFÓÁ 

EıÃ[˝”X* 6 + 14 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) ÿëˆ„îÁ~Tˆ ÂV„` %UÔÍX◊TˆEı ◊•„l˘‰yÃ[˝ ÿëˆÃ[˝÷Y %Á„_ÁªJÙXÁ 

EıÃ[˝”X*  

(F) Y“„Ã^ÁG ÂEıÏ`_ ◊X[˝ÔÁªJÙ„X %]Tˆ¤Ó Âa„XÃ[˝ ◊[˝‰`¿bS [˝ÓÁFÓÁ 

EıÃ[˝”X* 

(G) ]…_W˝X =dYÁVX %X«YÁTˆ Eı› ? Ac˜O %X«YÁ„TˆÃ[˝ _l˘S 

ae„l˘„Y %Á„_ÁªJÙXÁ EıÃ[˝”X* 4 + 8 

(H) aÁ]Á◊LEı Y“Á◊‹ôˆEı =dYÁVX ◊[˝◊X„Ã^ÁG„Eı Eı›\ˆÁ„[˝ 

Y“\ˆÁ◊[˝Tˆ EıÃ[˝„Tˆ YÁ„Ã[˝ ? Ac˜O Y“a„Ü EıÁX C ÊªJÙXÁ◊Ã[˝ 

Y“Vw¯ _l˘S %Á„_ÁªJÙXÁ EıÃ[˝”X* 6 + 6 
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(I¯) ÿëˆÃ^eªJÙÁ◊_Tˆ [˝c˜Xl˘] =~Ã^„XÃ[˝ Y…[˝Ô-Y“„Ã^ÁLX›Ã^ 

◊[˝bÃ^m◊_Ã[˝ ([˝Á Y…[˝Ô`Tˆ¤m◊_Ã[˝) ◊[˝`V ◊[˝[˝Ã[˝S ◊VX* 

(ªªJÙ˜) %G–[˝Tˆfi Â^ÁGa…y A[˝e Y∏JÙÁV[˝Tˆfi Â^ÁGa…‰yÃ[˝ a„Ü 

%a] a] ◊à˘Ã[˝ a+EÔı [˝ÓÁFÓÁ EıÃ[˝”X* 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) LXaeFÓÁÃ[˝ =YÃ[˝ %UÔÍX◊TˆEı =~Ã^„XÃ[˝ Y“\ˆÁ[˝ 

◊[˝‰`¿bS EıÃ[˝”X* 

(F) =~Ã^„XÃ[˝ LXÓ ÂLÁÃ[˝ W˝ÁhıÁ Tˆ√º¯◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(G) Ã[˝äÁ◊X [˝ ◊à˘ C %UÔÍX◊TˆEı =~Ã^„XÃ[˝ a+EÔı [˝ÓÁFÓÁ 

EıÃ[˝”X* 

(H) ◊`î aeÃ[˝l˘„SÃ[˝ Y„l˘ ^«◊N˛m◊_ Eı› Eı› ? 

(I¯) W˝Ã[˝Á ^ÁEı, )1)(2( ++= yxU  AEı◊ªRÙO =Y„^ÁG 

%„Yl˘Eı; 2=xp , 5=yp   V–[˝ÓV«◊ªRÙOÃ[˝ VÁ] A[˝e     

B = 51 c˜_ Â]ÁªRÙO [˝Á„LªRÙO %„Yl˘Eı* x C y V–[˝ÓV«◊ªRÙOÃ[˝ 

=Y„^ÁG› a„[˝ÔÁ¨JÙEıÁÃ[˝› Y◊Ã[˝]ÁS ◊XSÔÃ^ EıÃ[˝”X*  

 (ªJÙ) ^◊V 22100)( QQQR −=  A[˝e 

2000131559)( 23 ++−= QQQQC  ^UÁy‘„] 

AEı◊ªRÙO ZıÁ„]ÔÃ[˝ ÂÃ[˝◊\ˆ◊X= A[˝e [˝ÓÃ^ %„Yl˘Eı c˜Ã^, Tˆ„[˝ 

a[˝ÔÁ◊W˝Eı ]«XÁZıÁ %L¤XEıÁÃ[˝› Q-AÃ[˝ ]ÁX ◊XSÔÃ^ EıÃ[˝”X* 

(ªK˜) Eı[˝-QˆG_Áa =dYÁVX %„Yl˘Eı    

)( 1 αα −= LAKQ -AÃ[˝ LXÓ ]…_W˝X C `“„]Ã[˝   

Y“Á◊‹ôˆEı =dYÁVX EıTˆ    c˜„[˝ ? B =YÁVÁXm◊_Ã[˝ GQÕˆ 

=dYÁVX EıTˆ c˜„[˝ ? (Q = =dYÁVX, K = ]…_W˝X,    

L = `“] ) 3 + 3 

(L) ^◊V AEı◊ªRÙO Eı[˝C„Ã^[˝ ]„Qˆ„_Ã[˝ ªJÙÁ◊c˜VÁ C Â^ÁGÁX 

%„Yl˘Eım◊_ ◊X∂oˆÃ[˝÷Y c˜Ã^, 

 tt PQ 318d −=  

 143 −+−= tst PQ  

 Tˆ„[˝ \ˆÁÃ[˝aÁ]Ó VÁ] EıTˆ c˜„[˝ ? Ac˜O \ˆÁÃ[˝aÁ]Ó ◊Eı ÿöˆÁÃ^› 

c˜„[˝ ? 2 + 4  
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English Version 
 
 

1. Answer any two questions : 20 × 2 = 40 

(a) What is meant by economic development ? 

What are the components of economic 

development ? Discuss the difference 

between economic growth and economic 

development. 6 + 6 + 8  

(b) Discuss the explanation given for migration 

of labour in Harris-Todaro model. 

(c) Discuss the arguments in favour of 

balanced growth. What are the obstacles to 

balanced growth ? What are the differences 

between balanced and unbalanced growth ? 

  8 + 6 + 6  

(d) What is disguised unemployment ? Discuss 

briefly Amartya Sen's model on disguised 

unemployment. 6 + 14 

2. Answer any three questions  : 12 × 3 = 36 

(a) Discuss the nature of economic dualism in 

less developed countries.  

(b) Explain Amartya Sen's analysis on choice of 

techniques.  

(c) What is capital output ratio ? Briefly 

discuss the criterion for this ratio. 4 + 8 

(d) How does social marginal productivity 

influence investment ? In this respect 

discuss the criterion mentioned by Kahn 

and Chenarry. 6 + 6   

(e) Give a detailed description of the 

prerequisites for self sustaining 

development.  

(f) Explain the relation of forward and 

backward linkages with unbalanced 

growth.  

3. Answer any four questions  : 6 × 4 = 24 

(a) Analyse the influence of economic 

development on population.  

(b) Discuss the Big Push theory of 

development. 

(c) Explain the relation between export 

promotion and economic development. 

(d) What are the arguments in favour of 

protection of industries ?  
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(e) Suppose that )1)(2( ++= yxU  is a utility 

function; 
 2=xp , 5=yp  are the prices of the two 

commodities and B = 51 is the budget 
function. Derive the utility maximizing 
quantities of x and y.  

(f) If 22100)( QQQR −=  and 

2000131559)( 23 ++−= QQQQC  be the 

revenue and cost functions respectively of a 
firm, then determine the value of Q that 
maximizes profit.  

(g) For the Cobb-Douglas production function 

)( 1 αα −= LAKQ , what are the marginal 

product of capital and labour ? What will 
be the average product of those factors ?  

 ( Q = Production, K = Capital, L =  Labour )   
  3 + 3 
(h) If the demand and supply functions of a 

Cobweb model are as follows : 
 tt PQ 318d −=  

 143 −+−= tst PQ  

 then what will be the equilibrium price ? 
Will this equilibrium be stable ? 2 + 4 

    


